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Chapter 14


CHAPTER 14 – Part 1

QUESTIONS

3.
A security is classified as held to maturity if the business has the intent and the ability to hold the security to maturity.

4.
To be classified as a trading security, the security must have a readily determinable fair value and must be purchased and held for the purpose of selling it to generate profits on short-term differences in price.

7.
When a company does not own more than 50% of a company, other factors may be considered to determine if control exists. Such factors include owning a large minority voting interest with no other shareholder owning a significant block of stock or having a majority voting interest in determining who is on the company’s board of directors. When these other factors exist, then control may be assumed and consolidation would be appropriate.

8.
(a)
Factors that may indicate the ability of a minority-interest investor to exercise significant influence over an investee’s operating and financial policies are as follows:



1.
Representation on the board of directors of the investee.



2.
Participation in the policy-making process.



3.
Material intercompany transactions between investee and investor.



4.
Interchange of managerial personnel between investee and investor.



5.
Technological dependency of investee on investor.



6.
Substantial minority interest of the investor in an investee whose shares of stock are widely distributed and not concentrated for control purposes.


(b)
Factors that may indicate the inability of an investor with more than 20% of a company’s stock to exercise significant influence over an investee’s operating and financial policies are as follows:



1.
Opposition by the investee, such as litigation or complaints to governmental regulatory authorities.



2.
An agreement between the investor and the investee under which the investor surrenders significant rights as a shareholder.



3.
Majority ownership of the investee is concentrated among a small group of shareholders who operate the investee without regard to the views of the investor.



4.
The investor needs or wants more financial information to apply the equity method than is available to the investee’s other shareholders, tries to obtain the information, and fails.



5.
The investor tries and fails to obtain representation on the investee’s board of directors.

PRACTICE EXERCISES

PRACTICE 14(2
PURCHASING EQUITY SECURITIES


Investment in Available-for-Sale Securities
32,020



Cash

32,020

Investment: (1,000 shares ( $32) + $20 = $32,020

PRACTICE 14(4
INTEREST REVENUE FOR HELD-TO-MATURITY SECURITIES

1.


Investment in Held-to-Maturity Securities
25,518



Cash

25,518

2.


Cash [$20,000 ( 0.10  ( (6/12)]
1,000



Investment in Held-to-Maturity Securities

107



Interest Revenue

893

Interest Revenue:  $25,518 ( 0.07 ( (6/12) = $893

3.


Cash

1,000



Investment in Held-to-Maturity Securities

111



Interest Revenue

889

Interest Revenue:  ($25,518 ( $107) ( 0.07  ( (6/12) = $889

PRACTICE 14(6
REVENUE FOR TRADING AND AVAILABLE-FOR-SALE SECURITIES

Dividends received on trading and available-for-sale securities are both classified as dividend revenue.


Cash

7,600



Dividend Revenue

7,600

Cash: (2,000 shares ( $2.50) + (4,000 shares ( $0.65) = $7,600

PRACTICE 14(7
REVENUE FOR EQUITY METHOD SECURITIES

Because Burton owns more than 20% of Company A stock (2,000/8,000 = 25%), the investment is accounted for using the equity method. Because the purchase price was equal to Burton’s share of the book value of Company A’s equity, there is no excess of purchase price over cost basis.

Year 1


Investment in Company A Stock
27,000



Cash

27,000


Investment in Company A Stock
5,000



Income from Company A Stock

5,000

Income from Company A Stock: $20,000 ( (2,000 shares/8,000 shares) = $5,000


Cash

1,600



Investment in Company A Stock

1,600

Cash: $0.80 ( 2,000 shares = $1,600

Year 2


Investment in Company A Stock
6,250



Income from Company A Stock

6,250

Income from Company A Stock: $25,000 ( (2,000 shares/8,000 shares) = $6,250


Cash

2,000



Investment in Company A Stock

2,000

Cash: $1.00 ( 2,000 shares = $2,000

EXERCISES

14–23.

(a)
Investment in Trading Securities—Treasury Bonds

123,590*

Interest Revenue

1,500

Cash

125,090

To record purchase of $120,000 of U.S. Treasury 8% 

bonds.

*1.025 ( $120,000 = $123,000; $123,000 + $590 brokerage 

fee = $123,590

(b)
Investment in Available-for-Sale Securities—Agler Co.

176,200

Cash

176,200

To record purchase of 1,000 shares of Agler Co.

common stock.

(c)
Cash

4,800

Interest Revenue

4,800

To record receipt of semiannual interest on U.S. 

Treasury 8% bonds ($120,000 ( 0.04).

(d)
Cash

27,750*

Investment in Available-for-Sale Securities—

Agler Co.


26,430†
Realized Gain on Sale of Securities

1,320

To record sale of 150 shares of Agler Co. stock.

*150 shares at $185 per share = $27,750

† (150/1,000) ( $176,200 = $26,430

(e)
Cash

20,675*


Realized Loss on Sale of Securities

198

Investment in Trading Securities—Treasury Bonds

20,598†
Interest Revenue

275

To record sale of $20,000 worth of U.S. Treasury 8% 

bonds.

*$20,000 ( 1.02 = $20,400; $20,400 + $275 accrued interest = $20,675

†(20,000/120,000) ( $123,590 = $20,598 (rounded)

(f)
Investment in Trading Securities—Certificate of Deposit

15,000

Cash

15,000

To record purchase of a $15,000, 6-month certificate

of deposit.

14–25.

(a)
Equity Method with Consolidation. Even though RV Insurance Company is a nonhomogeneous operation, it should be consolidated because it is a majority-owned subsidiary. (See FASB Statement No. 94.)

(b)
Cost Method (Available for Sale). Buy Right has 10% ownership (20,000/200,000 shares) with no additional information to suggest that significant influence can be exercised.

(c)
Cost Method (Available for Sale). Super Tire holds nonvoting preferred stock. The cost method is used for investments in preferred stock.

(d)
Cost Method (Trading or Available for Sale). While Takeover Company owns 30% (15,000/50,000 shares) of Western’s common stock, it has been unable to obtain representation on Western’s board of directors. This is one of the specific examples given by FASB Interpretation No. 35, indicating that Takeover does not have significant influence and so must use the cost method. The securities would probably not be classified as trading unless Takeover is in the business of regularly making such investments in order to generate short-term trading profits.

(e)
Equity Method. Espino has 40% (50,000/125,000 shares) ownership and presumably can exercise significant influence, even though it does not have a controlling interest in Independent Mining.

14–26.

1.
Available for Sale

Jan.
10
Investment in Available-for-Sale Securities—


Atlanta Company Stock

800,000




Cash


800,000

To record investment in 16,000 shares of

Atlanta Company common stock.

Dec.
31
Cash

12,000




Dividend Revenue


12,000

To record dividend received from Atlanta

Company for 2005 ($0.75 ( 16,000 shares).

31
Unrealized Increase/Decrease in Value of 


Available-for-Sale Securities

160,000




Market Adjustment—Available-for-Sale 




Securities


160,000

To record decline in market value of Atlanta

Company stock ($10 ( 16,000 shares).

2.
Equity Method

Jan.
10
Investment in Atlanta Company Stock

800,000




Cash


800,000

To record investment in 16,000 shares of 

Atlanta Company common stock.

Dec.
31
Investment in Atlanta Company Stock

36,000




Income from Investment in Atlanta




Company Stock


36,000

To record proportionate share of Atlanta

Company’s earnings for 2005 (20% ( $180,000).


31
Cash

12,000




Investment in Atlanta Company Stock


12,000

To record dividend received from Atlanta

Company for 2005 ($0.75 ( 16,000 shares).

14–29.

1.
Investment in Held-to-Maturity Securities

601,933


Cash

601,933

To record the purchase of the debt security whose

value is computed as follows:

Using present value tables:


$
  
27,500 
(
13.5903
=
$
373,733




500,000
(
0.4564
=

228,200


$
601,933

Using a business calculator:


PMT = $27,500, FV = $500,000, N = 20, I = 4% ( $601,927


Note that the amount in this entry would be the same regardless of whether this security was classified as trading, available for sale, or held to maturity.

2.
Cash

27,500


Investment in Held-to-Maturity Securities

3,423*


Interest Revenue

24,077*

To record the cash received for the first interest 

payment and to recognize interest revenue.

*$601,933 ( 0.04 = $24,077; $27,500 – $24,077 = $3,423


Cash

27,500


Investment in Held-to-Maturity Securities

3,560*


Interest Revenue

23,940*

To record the cash received for the second interest

payment and to recognize interest revenue.

*($601,933 – $3,423) ( 0.04 = $23,940; $27,500 – $23,940 = $3,560

14–30.

1.
Amortization Schedule:



Interest
Interest



Received
Revenue (0.05


Bond


Interest
(0.04 (
( Carrying
Discount
Unamortized
Carrying


Payment
$100,000)

Value)

Amortization

Discount


Value






$7,723
$
92,277


1
$4,000
$4,614
$614
7,109
92,891


2
4,000
4,645
645
6,464
93,536


3
4,000
4,677
677
5,787
94,213


4
4,000
4,711
711
5,076
94,924


5
4,000
4,746
746
4,330
95,670


6
4,000
4,784
784
3,546
96,454


7
4,000
4,823
823
2,723
97,277


8
4,000
4,864
864
1,859
98,141


9
4,000
4,907
907
952
99,048


10
4,000
4,952
952
0
100,000

2.
Journal Entries:

July
1
Cash

4,000

Investment in Held-to-Maturity Securities

614


Interest Revenue

4,614

Dec.
31
Cash

4,000

Investment in Held-to-Maturity Securities

645


Interest Revenue

4,645

14–31.

This debt security’s book value following the second interest payment is $93,536 (from amortization table). The journal entries to adjust the security to market value under differing assumptions are as follows:

1.
Trading Security:

Market Adjustment—Trading Securities


2,964*

Unrealized Gain on Trading Securities


2,964

To record unrealized increase in fair value of security.

Increase is recognized on the income statement.

*Fair value less book value = $96,500 – $93,536 = $2,964 unrealized gain.

2.
Available-for-Sale Security:

Market Adjustment—Available-for-Sale Securities

2,964

Unrealized Increase/Decrease in Value of Available-

for-Sale Securities


2,964

To record unrealized increase in fair value of security.

Increase is recognized in stockholders’ equity section.

3.
For held-to-maturity securities, increases and decreases in value are not 
recognized.

14–32.

1.


Security

Cost

Fair Value (12/31/05)

A
$
65,000
$
75,000


B
100,000
54,000


C

220,000

226,000

Total
$385,000
$355,000

A loss of $30,000 ($385,000 – $355,000) would be recognized, reducing net income to $270,000 ($300,000 – $30,000).

2.


Security

Cost

Fair Value (12/31/05)

A
$
65,000
$
75,000


B

100,000

95,000


C

220,000

226,000

Total
$385,000
$396,000

If the market value of security B were $95,000, net income would be increased by $11,000 ($396,000 – $385,000). Net income would be reported at $311,000 ($300,000 + $11,000).

14–34.

1.
Unrealized Loss on Trading Securities


4,000

Market Adjustment—Trading Securities


4,000

To record the decline in value of trading securities 

from cost of $26,000 to market of $22,000.

Unrealized Increase/Decrease in Value of Available-for-

Sale Securities

2,000

Market Adjustment—Available-for-Sale Securities

2,000

To record decline in value of available-for-sale 

securities from cost of $32,000 to market of $30,000.

No entry to adjust held-to-maturity securities to fair value.

2.
Reported net income

$
100,000

Less: Unrealized loss on trading securities


(4,000)


Adjusted net income

$
96,000

(Note:
The decrease in value of available-for-sale securities is not reflected in

net income.)

14–35.

1.
In 2004, the historical cost of the trading securities exceeds the fair value by $4,000 ($38,000 – $34,000). Thus, income for 2004 would be reduced by $4,000.

Unrealized Loss on Trading Securities

4,000

Market Adjustment—Trading Securities

4,000

In 2005, the fair value of the securities exceeds historical cost by $1,000. With an existing balance in the market adjustment account of $4,000 (credit), an adjustment would be made to income for $5,000 to obtain the desired $1,000 debit balance in the market adjustment account.

Market Adjustment—Trading Securities


5,000

Unrealized Gain on Trading Securities

5,000
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